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First food and second food - 53 HOINY PIWRT POIN

Overview

The X713 cites a 71wn that if one ate food which was a IR WRA or a ARMILY ’JW,l
he disqualifies” the 7m0 which he touches. moon explains the need for the mwn
to mention both a WX and a IRMIV? W.
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If the maw» would only teach that one who eats a IR™L? WK is 7170 HOW®, we

would not have known from this that it applies to one who eats an 1w 928,

therefore it is necessary to mention *1 22 as well -
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And if the mw» would teach only "2 %218, I would have thought that if one

eats an N9 5218 he is even RX»Wv» the 77N, so it can be Xaun others. Therefore it also
mentions WX Y2 that one who eat it is only 701 the 717N, but not Xnwn it.

Summary
It was necessary to mention both W& 22X and *1w 92IX.

Thinking it over
1. Why was it necessary for mo01n to explain why the 71wn mentions "1 928; the

answer is quite obvious?!

2. According to the (second) ¥m>™x of '01n, what would be the ruling if one ate an
IRMIVT AR (a 79°21), would he be 1m0 ®nun (since the 71wn does not mention 2K
AXMII), or just be 501 the 7mn?’

! Anything which touches an 7xmw7 2R (like a y7w), including food, becomes a nxmw> 1wXR1; food which touches a
TRMIY WK (a person who touched a yow) becomes a nRmv? "W

% This means that the 770 becomes 5109; it cannot be eaten and must be burnt. However this 72170 cannot be Xnun
other 7m17n.

? The term 9109 means that the item (77170) is unfit but it cannot transmit XMV elsewhere; the term XY means that
not only is it disqualified but it can also be Xnun others. See ‘Thinking it over’ # 1.

* See 2787 wn.
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